PLOTTED: 35/2025 2:02:44 PM

-4
=]
&
&
[}
Porpp)
v :
@
c s :
3
Bradley Kuehl
2025.03.05 14:28:10-06'00° .
H H H H H %
i i i i i @
Separate Electrical Permit is required with the g
PUYALLUP, WA. SSC 461180 | tahrson S osminar iLsore
y . Industries. i
https://Ini.wa.gov/licensing-permits/electrical/ele Pobptpipbie
5 ! . . . =
City of Puyallup Approval of submitted plans is not an approval of omissions or ctrical-permits-fees-and-inspections =
H H . . . . . . . i i i i
Building oversights by this office or non compliance with any applicable or call for Licensing Information: UL ] e
REVIEWED regulations of local government. The contractor is responsible for 1-800-647-0982 Wo.%y 5.
FOR making sure that the building complies with all applicable codes and § 555 g*g
COMPLIANCE regulations of the local government. 8 gEcafels
03/05/2025 SKinnear ‘ ‘ ‘ P lpisiiaiid
) e TR TR R I A T I e 2 s8zresatet
105 Sehool Creok Trai Cpllo 2028 The approved construction plans, documents, and all engineering ATIME SENSITIVE INFORMATION R HEIE
RICE Luxemburg, Wi 54217 1:53:40 PM must be posted on the job at all inspections in a visible and readily Review & Approval Required Prior to bEsiiizgl §§
e Phone: (920)-617-1042 accessible location. Fabrication o SE-BrEsols
Fax: (820)-617-1100 P i 2redesat ek
ENGINEERING ax: (920)817-110 M~ EB0BSEEREE
Full sized legible color plans  are required to be provided by the A dB — k
This Certification is limited to the structural design of the structural permitee on site for inspection. APpProved By, o) (&) 5
components of this sunshade system. It does NOT include ) —i Lu g
responsibility for: Approval Date <t I 2%¢e
* Structural design of glass lites, gaskets, and sealants. R ‘ (q\| %23
* Design of air and water infiltration prevention PREPAR ED BY ‘ . (@) z 8 o §
* The manufacture, assembly, or installation of the system. T Requested On-Site Date N LLJ ooy
* Quantities of materials or dimensional accuracy of drawings. ISSUED PERMIT Q % Q
Building Planning B - 5
Engineering Public Works Oﬂ”&ﬁtﬁ:} CQ ﬂtaCt Z 0 @
CUSTOMER SUPPORT INFORMATION Building Value In Air. ‘ O
On-Site Contact Phone #
SALES SUPPORT, SHIPPING INFORMATION nd
JANET KASPRZYCKI: 715-355-2435 ] ‘ N ) al
ENGINEERING, TECHNICAL SUPPORT PO Box 410, Schofield, Wl 54476-0410 USA On-Site Email
ANDREW PEDERSON: 715-241-6189 www.greenheck.com
ARCHITECTURAL@GREENHECK.COM -
5
o | O
O
g| =
SYMBOLS DESIGN LOADS CONFLICTS ERRORS, AND CHANGES ARCHITECT AND GENERAL CONTRACTOR o §
tinter te ived and ar A All structural steel reinforcing required to support large sections or multiple sections within @
THE DESiGN LOAD FOR THIS TRE[‘L!S IS - PSF mrd \,‘ iCLGdL Ortn e a large opening are not provided by Greenheck Fan unless otherwise noted on these § %
ITEM NUMBER t begir f the following drawings. It s the responsibility of the structural engineer to insure that all loading A
/DEWLNUMBER //ﬁ —BUILDING ELEVATION THE SPECIFICATION SECTION IS PER QUOTE k \jgv wfﬁhjot respor heible. for co:wm requirements are sufficient. 25 i
TN . Jp—; g 0 B. Anchors, shims backer rod and sealants are not by Greenheck Fan unless noted i IR
— DETAIL MARK ITEM DESIGNATION p draw R
) T O REVATION ABBREVIATIONS P o otherwise , = 212|3
QTY: C. Allfasteners are mill finish unless noted otherwise. w 5lal =z
DETAIL PAGE LOCATION \ ADDITIONAL INFORMATION D. Fleld verification and/for field measurements will not be the responsibility of Greenheck 5 Zluwl =
[ —— SECTION TAG LOUVER QUANTITY Fan. The general contractor will indicate to Greenheck Fan that all dimensions have been | £ © % 8
! verified and approved. Q@ = 5 % i
R E. "Please Verify" requests not answered will be assumed correct as shown. Any future % 8 é = o
K, problems due to these verifications not being completed will not be the responsibility of A o
XX SPOTWELD /ﬁ[)iETAILNUMBER - Greenheck Fan. o ) E“) E“) % % é
/7 DETAIL PAGE LOCATION ) F. ErectorfContractor accepts responsibility for the performance of the lowver system ffsuch | B B 1 & 2 1 %
OR  HOOOOKK ALL OTHER WELDS /— DETAIL DESCRIPTION is not installed per Greenheck Fan drawings and specifications. g 151818
5 HEAD G. Separation of dissimilar material is not by Greenheck Fan. o ol =
X —ITEM NUMBER o DETAIL DESIGNATION H. If product is welded, some deformation due to heat & weld penetration must be expected SCALED WHEN PLOTTED ON
/ I To avoid damage or bodily injury, DO NOT LEAN, STEP, OR WALK ON TRELLIS DN“?KE BN“?KE
KEY PLAN EL. MARK "\ ADDITIONAL INFORMATION FRAMES OR PANELS. These are NOT MEANT TO BE LOAD BEARING for the purposes |
;LOOR LEVEL ARégﬁé‘gES;:ﬁgLE?ﬁﬁE of installation or maintenance. SHEET DESCRIPTION:
COVER SHEET
PRODUCT SPECIALIST DRAWING INDEX: P —
ELEVATION ;
EXTERIOREL. JAN IS JANET KASPRZYCKI COVER & INFO: G1 - G2 | mmmem
ELEVATION PAGE LOCATION ENGINEERING PLAN VIEWS & LOUVER SDR NO.:
: - KEY PLANS: P1
- DRAWN BY: DATE:
A (ToSumat  peaCHOR ‘| SUBMISSION: A PEDERSON 1212124 _ L2401075
/ﬁ ELEVATION HEIGHT PRODUCTION: e ELEVATIONS: E1 TRANG e
G ; 0.8 10041 : CHECKED BY: DATE: C DM
T.0.8 1001 ELEVATION MARK ‘ DEAD LOAD SHIM SUBMISSION: o - DETAILS: D1-D8 C1
K By Date PRODUCTION: -~ /

COPYRIGHT 2006, THE GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


PLOTTED: 3/5/2025 2:02:45 PM

City of Puyallup
Development & Permitting Services

ISSUED PERMIT

Building Planning

Engineering Public Works

Fire Traffic

-

EXTRUDED ALUMINUM ARCHITECTURAL LOUVER

PRODUCT TYPE
CANOPY

\

MATERIAL ALLOY.
FASCIATYPE ..

FRAME TYPE ..o 2"X8"X. 125" ALUM. TUBE
EXTRUDED ALUMINUM ALLOY (VARIES)
.3.125"X8.406"X 125" ALUM. CHNL
UDED ALUMINUM ALLOY (8063-T5)
...0.125" ALUM (6063-T5)
SCREWED/WELDED
..POWDER COAT

\/ARI?S/

FINISH SCHEDULE
HHEH

~

FINISH - A
FINISH - B

-C: GOLD
FINISH - D

FINISH

- CHANTILLY LACE
- UMBRA GRAY

J

-

GREENHECK PROJECT NUMBERS
PROJECT NAME

~

.

SALES ORDER NUMBER: DESIGN PROJECT #1:
DESIGN PROJECT #2:

LOUVER SDR NUMBER: DESIGN PROJECT #3:
L2401075 DESIGN PROJECT #4:

J
=)

PARTS INDEX

Fasteners:

F@ — Screw, #10—16x3/4 300 Series Stainless, TPH, SM
(416108)

F76 — Screw, 0.25—14X1, SS, 18-8, TEK HWH (417697)
F78 — Screw, #10-16x1 18-8S8S, TFH, T—AB, U/C (418907)
F111 — Nut, 3/8-16 Hex, 300 Series Stainless {415799)
F113 — Nut, 1/2-13 300 Series Stainless, HH (415802)
F146 — Washer, 1/255 (416628)

F147 — Washer, 3/8-18-8SS (416425)

F190 — Anchor Rod, 0.375” x 16.000” RH SS {(416888)
F231 — F250 (GENERIC FASTENER NUMBERS: REF CUSTOM
PARTS.

F394 — Screw, TEK, #12—14x.75,18—85S, HWH (417152)

OEM Parts:
MD54 — Trellis Hood, 0.1007, 1100-H14 Alum

Miscellaneous:
M44 -~ Wall Condition (Not By GFC)
M54 — Blocking Design & Minimum Embedment (Not By GFC)

Fasteners:

F231 — Cap Screw, %-13 x 2.000, 300 Series Stainless
HH (415783)

F232 — Washer, Lock, Split, .5, SS 316 (415809)

F233 — MS, HH, .25-20X2.5,5S, 18-8 (416380)

03/05/2025

PRCNC20241917

o

PRINT RECORD

S

/
/
/
/
/
/
/
/ SHOP NOTE:
PDF (12/12/ 2024 MCDONALDS SEE INDEX, PAGE C1 1st SUB Egg%g“g:;yg‘;:g‘éﬁiiem5
COPIES DATE ISSUED TO SHEETS PURPOSE that are used in fabrication.

REVISION DESCRIPTION

REVISION BY

REV. DATE

REV.
NO

trade secret
Greenheck Fan and remains the property

PROPRIETARY INFORMATION NOTICE:
of Greenheck Fan and is to be returned
reproduced or disclosed to persons not
having a need-to-know consistent with

the purpose of loan of the

This document is and contains
information it contains may be
without written permission.

P.C.BOX 410
SCHOFIELD, WISCONSIN
54476-0410

[E GREENHECK

PROJECT LOCATION: PUYALLUP, WA. SSC 461180
REP COMPANY: GREENHECK NATIONAL ACCOUNT

PROJECT: MCDONALDS TRELLIS
CUSTOMER: MCDONALDS

ARCHITECT: —

L]
“D" SIZE "B
N/A ; NE&
SHEET DESCRIPTION:
SCHEDULE & MATERIALS
SUBMISSIONS DRAWN BY:

A. PEDERSON
[PRODUCTION DRAWN BY:

@
&
oS
B2
m
o
=
=
m
=2
(=]
=5
o
m
(]
o
H

]
@
]
m

SALES ORDER NUMBERS:

LOUVER SDR NO.:

L2401075

DRAWING NO.:

CZ/

COPYRIGHT 2006, GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


PLOTTED: ¥5/2025 2:02:45 PM

City of Puyallup
Development & Permitting Services

ISSUED PERMIT

Building Planning

Engineering Public Works

Fire Traffic

TRELLIS

CE e

QUANTITY: 1
CHANTILLY LACE W/ GOLD UNDERSCORE

NOTE:

FLOOR PLAN DRAWN FOR TRELLIS LOCATION
REFERENCE ONLY. DO NOT SCALE OFF OF THIS
DRAWING FOR BUILDING SIZE OR
SPECIFICATIONS.

TRELLIS TRELLIS
TG Caras

QUANTITY: 1 QUANTITY: 1
UMBRA GRAY W/ GOLD UNDERSCORE UMBRA GRAY W/ GOLD UNDERSCORE

TRELLIS
TaG

PRCNC20241917

GUANTITY: 1
UMBRA GRAY W/ GOLD UNDERSCORE

03/05/2025

REVISION DESCRIPTION

REVISION BY

REV. DATE

REV,
NG

of

trade secret
Greenheck Fan and remains the property

of Greenheck Fan andis to be returned

upon request. Neither it nor the

PROPRIETARY INFORMATION NOTICE:
information i contains may be

reproduced or disclosed to persons not
having a need-to-know consistent with

the purpose of loan of the

This document is and contains
wdthout written permission.

P.O.BOX 410
SCHOFIELD, WISCONSIN

54476-0410

[E GREENHECK

PROJECT LOCATION: PUYALLUP, WA. SSC 461180
REP COMPANY: GREENHECK NATIONAL ACCOUNT

PROJECT: MCDONALDS TRELLIS

CUSTOMER: MCDONALDS

ARCHITECT:

SCALED WHEN PLOTTED O
"D" SIZE "B" SIZE
180

SHEET DESCRIPTION:
PLAN WIEW

SUBMISSION DRAWN BY:
A PEDERSON
FRODUCTION DRAWN BY:

SALES ORDER NUMBERS:

LOUVER SDR NO.:

L2401075

DRAWING NO.:

P1

/

COPYRIGHT 2006, GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


PLOTTED: ¥5/2025 2:02:45 PM

City of Puyaliyp
DEVE‘ODITI\ZHSIL&}Ege;’TE\\;IFAQ‘?ETV\CES 5 ,I s -—G” [6 1 ZAOOO]
Building Planning ASSEMBLED TRELLIS
Engingering PublicWorks s w » » » » s s > 9 s ” s 9
= e 7'-10 21/32" [94.667] 7'-10 21/32" [94.667] 7'-10 21/32" [94.667] 7'—10 21/32" [94.667] 7'-10 21/32" [94.667] 7'~10 21/32" [94.667) 3'-8" [44.000]
— SHIP SIZE SHIP SIZE SHIP SIZE SHIP SIZE SHIF SIZE SHIP SIZE SHIF SIZE
[»] [
S 8y
5o e
Ta .-
5 g i
| W
I
) o S -~ o o
I
Y
; ) e
7TV N F Yy FYVYY FYVYY \%A
& - DRAIN LOCATION - DRAIN LOCATION
=)
EQ. EQ. CORNER TRELLIS 0
36" PROJECTION S w
MAX. STIFFENER o 1
5'-0" [60.000] SPACING AT 26.77" O.C. }m
LIGHTING LOC. NE
M3
53]
o
9'-0" [108.000] R
UNDERSCORE r\+
TRELLIS DRAIN LOCATION =
T8
. ~
-.’TAG. S
QUANTITY: 1 ] =5 59
CHANTILLY LACE W/GOLD UNDERSCIORE Yo 8u
£ o
3'—5" [41.000] wE o
LIGHTING LOC. o no
. =3
P :
36" PROJECTION ; ) | D
- EQ. == EQ. e MAX. STIFFENER ~a
SPACING AT 26.77" 0.C. R } bl
DRAIN LOCATION =
i i I DRAIN LOCATION R
o STAND ALONE TRELLIS =5
I I :
" | | 48" PROJECTION TRELLIS \ Ya
! L N MAX. STIFFENER e >T
] I | SPACING AT 25" O.C. e N ~
8 | | * 1 i
y ~
Y I D —— T
T . < ;
=y Sy =y f - }
& o 5 Dy i=3
ii. % = Qi S Ir5)
SE = 88 o=z ™
: g i % — ) OI SEQ % ﬁ
+ O R w% Sox g —c
<+ :C) F) 0 Lc.?.x% s
Zz N
68" [6.000] 6" [6.000] 43 ¢ 55
N . o
oy )= = UNDERSCORE —=] |=—© & N N
T

& — DEAD LOAD ANCHOR

@ — OFFSET DEADLOAD

6’8" [80.000]
SHIP SIZE :

TRELLIS

ChoThG

QUANTITY: 3

UMBRA GRAY W/GOLD UNDERSCORE

W = REPRESENTS PANEL LOCATIONS

et —

EQ.

03/05/2025

EQ.

3=0" [36.000]
SHIP SIZE

PRCNC20241917

REVISION DESCRIPTION

REVISION BY

REV. DATE

REV,
NG

closed to persons not

trade secret
Greenheck Fan and remains the property

of Greenheck Fan andis to be returned

upon request. Neith

PROPRIETARY INFORMATION NOTICE:
information it cont;

£
k=
L
®
i
2
&
8
z
3
2
=5
2
b
b4
s
2
©
o
£
S
H
2

This document is and contains
the purpose of loan of the
wdthout written permission.

&
o
@
b
3
2
g
=
&

P.O.BOX 410
SCHOFIELD, WISCONSIN

54476-0410

[E GREENHECK

PROJECT LOCATION: PUYALLUP, WA. SSC 461180

PROJECT: MCDONALDS TRELLIS

REP COMPANY: GREENHECK NATIONAL ACCOUNT

CUSTOMER: MCDONALDS

ARCHITECT: —

SCALED WHEN PLOTTED O

"D" SIZE "B" SIZE
3810 #i

SHEET DESCRIPTION:
ELEVATIONS

SUBMISSION DRAWN BY:
A PEDERSON
FRODUCTION DRAWN BY:

SALES ORDER NUMBERS:

LOUVER SDR NO.:

L2401075

DRAWING NO.:

E1

/

COPYRIGHT 2006, GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


PLOTTED: ¥5/2025 2:02:45 PM

City of Puyallup

Development & Permitting Services
PERMIT

ISSUED
Building

Planning

Engineering

Public Works

Fire

Traffic

(3) 2 X 10 BLOCKING

4" x 4" x " A36
STEEL BACKER PLATES
(2.50” MIN. END/EDGE
DISTANCE) (BY OTHERS)

0.625"% THRU—BOLTS
(BY GFC)
1.05” 0.D. X 0.154"

THICK SCH. 80 PIPE SLV
(BY OTHERS)

MS4

i

M4 4

- bsch
T R T e
L

i ﬂUﬂD0l|BWﬂll|1"ilﬂﬂﬂﬁﬂ|:11ﬂﬂﬂ;’ﬂﬂﬂﬂﬂﬂhﬂﬂ“ﬂ:‘ﬂﬂﬁaﬁxﬂ'ﬂzﬂ

A B R D R

3”¢ DRAIN HOLE
(LOCATION TBD)

B |

PARTS INDEX

Fasteners:
F78 — Screw, #10-—16x1 18-8SS, TFH, T—AB, U/C (416907)
F394 — Screw, TEK, #12-14x.75,18—8SS, HWH (417152)

CEM Parts:
MDS4 — Trellis Heood, 0.1007, 1100~H14 Alum

Miscelloneous:
M44 — Wall Condition (Not By GFC)
M54 — Blocking Design & Minimum Embedment (Not By GFC)

03/05/2025

FINISH FASCIA TO BE

/ FIELD INSTALLED

PRCNC20241917

ret— 8 000

OFFIT MOUNTING
STRIP

MD54 5% 3 3% F394
6” [6.000] 7% 1"x.125” ALUM
HOOD SUPPORT

| y 7 ) L L
|

!

i LIGHT BY 9
: OTHERS

: B =
I

|

|

\\\\\m-SOFHT PANEL \\

\\“F78

(FIELD INSTALLED)

SHIP SIZE (SEE ELEVATION) o

m CANQOPY SECTION
w SCALE: 1:4

REVISION DESCRIPTION

REVISION BY

REV.
NEV| REV. DATE

of

trade secret
Greenheck Fan and remains the property

of Greenheck Fan and is to be returned

upon request. Meither it nor the

PROPRIETARY INFORMATION NOTICE:
information i contains may be

reproduced or disclosed to persons not
having a need-to-know consistent with

the purpose of loan of the

This document is and contains
wdthout written permission.

P.O.BOX 410
SCHOFIELD, WISCONSIN

54476-0410

[B GREENHECK

PROJECT: MCDONALDS TRELLIS

PROJECT LOCATION: PUYALLUP, WA. SSC 461180

REP COMPANY: GREENHECK NATIONAL ACCOUNT

CUSTOMER: MCDONALDS

ARCHITECT: —

SCALEDWHEN
"D" SIZE
14
SHEET DESCRIPTION:
DETAIL
SUBMISSION DRAWN BY:
A. PEDERSON
PRODUCTION DRAWN BY:

m
-
®mo
oo
mm
[~
]
o
E

SALES ORDER NUMBERS:

LOUVER SDR NO.:

L2401075

DRAWING NO.:

D1 )

COPYRIGHT 2006, GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


PLOTTED: ¥5/2025 2:02:45 PM

City of Puyallup
Development & Permitting Services
ISSUED PERMIT
Building Planning
Engineering Public Works
Fire Traffic

(3) 2 X 10 BLOCKING——

4" x 47 x " A36

STEEL BACKER PLATES
(2.50” MIN. END/EDGE
DISTANCE) (BY OTHERS)

4.000

0.625"¢ THRU—BOLTS
(BY GFC)

1.05” 0.D. X 0.154"
THICK SCH. 80 PIPE SLV
(BY OTHERS)

MS4

-y M 4 4

3”¢ DRAIN HOLE
(LOCATION TBD)

PARTS INDEX

Fasteners:

F76 — Screw, 0.25—14X1, SS, 18-8, TEK HWH (417697)
F78 — Screw, #10—16x1 18-8SS, TFH, T—AB, U/C (416907)
F384 — Screw, TEK, #12-14x.75,18—8SS, HWH (417152)

OEM Parts:
MD54 — Trellis Hood, 0.100", 1100—H14 Alum

Miscellaneous:
M44 — Wall Condition (Not By GFC)
M54 — Blocking Design & Minimum Embedment (Not By GFC)

03/05/2025

FINISH FASCIA TO BE

F76
(FIELD INSTALLED)
SHIP SIZE (SEE ELEVATION)

¢ MD54 . i F394

= 6" [6.000] 17x 1"x.125" ALUM FIELD INSTALLED -
o HOOD SUPPORT L s
A {9{ “\:ﬁ e o B ‘ @
i i ’ Y A ¢ . b —
I I ;5

| | (=
| | s g 8 (@)
} | LIGHT BY S <
T !lfi@ﬁﬂ} I I OTHERS Q
| | —— — 2.000 =
i I ! i 5

| | = =
| : o \ kY o m o \“\‘ D:
= | i NN A \N\ b o
|
' F76
GOLD UNDERSCORE
FIELD ATTACH SOFFIT PANEL \\\A(HELD INSTALLED)
SOFFIT MOUNTING F78
STRIP (FIELD INSTALLED)

//’;\\\ CANOPY SECTION
w SCALE: 1:4

z

Q

=

.

74

(|

i i i lw

o

=

=

]

=

i

3

-

32}

z

i =

P P PG

=

(1]

(24

13}

5

1 1 vt VS

=

(1]

(24

i i [ B

N 2

. z

[ o o
5] 5 g e S
= gE cE
E SE SF
s&a3 22
Z! o @ [
Zl yEE ol 08
S L2EE25250

El sl dal 2 .
g £ =g &

= ugmg

gl 88t gLE3

ol 55k $E%8

8

2l 50g EsE

w288 R

% e 8L 5 e

PR 5§ o8

W E®x G Be e

£ 2ESE 8-os

o SgEa 2% g

g 5848 Bo3g

@ o= 8k sgad

al 2580 5E of

E8ds goEZ

P.O.BOX 410
SCHOFIELD, WISCONSIN

54476-0410

[B GREENHECK

PROJECT LOCATION: PUYALLUP, WA. SSC 461180

PROJECT: MCDONALDS TRELLIS

REP COMPANY: GREENHECK NATIONAL ACCOUNT

CUSTOMER: MCDONALDS

ARCHITECT: —

CALEDWHER
"D" SIZE
14

@
m
=
[+

=
4
m
-]
]
=

]
@
]
m

SHEET DESCRIPTION:
DETAIL

SUBMISSION DRAWN BY:
A. PEDERSON
FRODUCTION DRAWN BY:

SALES ORDER NUMBERS:

LOUVER SDR NO.:

L2401075

DRAWING NO.:

D2 )

COPYRIGHT 2006, GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


PLOTTED: 35/2025 2:02:46 PM

City of Puyallup
Development & Permitting Services
ISSUED PERMIT

Building Planning

Engineering Public Works

Fire Traffic

5 1/4” x 11 7/8" LVL—

4" x 4" x 3" A36

STEEL BACKER PLATES
(2.50” MIN. END/EDGE
DISTANCE) (BY OTHERS)

4.000

0.625"¢ THRU—BOLTS
(BY GFC)

1.05” 0.D. X 0.154”
THICK SCH. 80 PIPE SLV
(BY OTHERS)

PARTS INDEX

Fasteners:

OEM Parts:

Miscellaneous:

F76 — Screw, 0.25—14%X1, SS, 18-8, TEK HWH (417697)
F78 — Screw, #10—16x1 18-8SS, TFH, T—AB, U/C (416907)
F394 — Screw, TEK, #12-14x.75,18=8SS, HWH (417152)

MD34 — Trellis Hood, 0.1007, 1100-H14 Alum

M44 — Wall Condition (Not By GFC)
M54 — Blocking Design & Minimum Embedment (Not By GFC)

03/05/2025
3"¢ DRAIN FLANGE
MS4 M4 4 OUTLET
¢ FINISH FASCIA TO BE ~
- ” MD54 F394 —
6” [6.000] r; 17 1"%.125” ALUM /FIELD INSTALLED o
HOOD SUPPORT —
AN 7 RN \ VAR ] <
] o o
| | ! } X ' N
. X
| | (]
: : e 3 8 Q
! | LIGHT BY o0 6
OTHERS
| | e o
| | .
| | 4.000  f— X
Wl [ o D—
- E \ o] o
o Rl i A e o4 s,
! | F76
i ] GOLD UNDERSCORE (FIELD INSTALLED)
) 3"¢ DRAIN TUBE FIELD ATTACH
- (LOCATION TBD) P78
e (FIELD INSTALLED)
/ 7 F76
/ 7 (FIELD INSTALLED)
/ /

f

I

I m CANOPY SECTION
| w SCALE: 1:4

I

t

z

Q

=

.

74

[ 8]

@

i ]

i i i o

=

=

]

=

i

3

P

32}

z

i =3

P P [

=

(1]

(24

13}

5

1 1 vt VS

=

(1]

(24

i i [ B

N 2

. z

[ o o
5] 5 g e S
= gE cE
E SE SF
s&a3 22
Z! o @ [
Zl yEE ol 08
S L2EE25250

El sl dal 2 .
g £ =g &

= ugmg

gl 88t gLE3

ol 55k $E%8

8

2l 50g EsE

w288 R

% e 8L 5 e

PR 5§ o8

W E®x G Be e

£ 2ESE 8-os

o SgEa 2% g

g 5848 Bo3g

@ o= 8k sgad

al 2580 5E of

E8ds goEZ

P.O.BOX 410
SCHOFIELD, WISCONSIN

54476-0410

[B GREENHECK

PROJECT LOCATION: PUYALLUP, WA. SSC 461180

PROJECT: MCDONALDS TRELLIS

REP COMPANY: GREENHECK NATIONAL ACCOUNT

CUSTOMER: MCDONALDS

ARCHITECT: —

CALEDWHER
"D" SIZE
14

@
m
=
[+

=
4
m
-]
]
=

]
@
]
m

SHEET DESCRIPTION:
DETAILS

SUBMISSION DRAWN BY:
A. PEDERSON
FRODUCTION DRAWN BY:

SALES ORDER NUMBERS:

LOUVER SDR NO.:

L2401075

DRAWING NO.:

D3 )

COPYRIGHT 2006, GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


PLOTTED: 35/2025 2:02:46 PM

PARTS INDEX

Fasteners:

(QTY VARIES BASED

b CitygePuyallup F113 — Nut, 1/2-13 300 Series Stainless, HH (415802)
evelopment & Permitting Services
ISSUED PERMIT F146 — Washer, 1/2SS (416628)
Building Plggning F231 — F250 (GENERIC FASTENER NUMBERS: REF CUSTOM
Engineering Public Works PARTS)
Fire Traffic F394 — Screw, TEK, #12—14x.75,18—8SS, HWH (417152)
Fasteners:
F231 — Cap Screw, %—13 x 2.000, 300 Series Stainless
HH (415783)
F232 — Washer, Lock, Split, .5, SS 316 (415809)
10.500 | | 10.500
—= 4.000 (3) 2 X 10 BLOCKING 4.000
i e e e A N R T B e e
| 2 X 8 REAR TUBE
?_ Fe3wress/
| F113/F146
|
| 03/05/2025
! F394 "
] 3" DIA. DRAIN HOLE
| WHERE REQUIRED
I
|
|
2 X 8 TUBE §
OUTRIGGER \! 1" TUBE HOOD
;\\ SUPPORT

SHIP SIZE (SEE ELEVATIONS)

ON SECTION WIDTH)

2 X 8 FRONT TUBE

SHIP SIZE (SEE ELEVATIONS)

PRCNC20241917

REVISION DESCRIPTION

REVISION BY

REV. DATE

REV
NG

trade secret
Greenheck Fan and remains the property

PROPRIETARY INFORMATION NOTICE:
of Greenheck Fan and is to be returned
reproduced or disclosed to persons not
having a need-to-know consistent with

This document is and contains
information i contains may be
the purpose of loan of the
wdthout written permission.

P.O.BOX 410
SCHOFIELD, WISCONSIN
54476-0410

[B GREENHECK

PROJECT LOCATION: PUYALLUP, WA. SSC 461180

PROJECT: MCDONALDS TRELLIS

REP COMPANY: GREENHECK NATIONAL ACCOUNT

CUSTOMER: MCDONALDS

ARCHITECT: —

SCALEDWHEN
"D" SIZE
14

m
-
®mo
oo
mm
[~
]
o
E

SHEET DESCRIPTION:
DETAIL

SUBMISSION DRAWN BY:
A. PEDERSON
FRODUCTION DRAWN BY:

SALES ORDER NUMBERS:

LOUVER SDR NO.:

L2401075

DRAWING NO.:

D4

/

COPYRIGHT 2006, GREENHECK FAN CORPORATION


SKinnear
Building Text Box
PRCNC20241917


NOILYHOJYOD Nyd JOIHNIZYO ‘9007 LHONALOD

.

. ‘ON . — = .. e
MNOILdIFDS3A NOISIAZY AH NOIBIAEY A1v0 AZY Ay Mﬂwwo_ﬁ_wuww%wm\%awmm:wﬁ OLY0-9/ 45 SLOFLHOHY m& M M M /
- e - - AR JUBISISLOD MOL-OFPasU & Buiaey . Bl it
1ou suosiad o) pasopsip o peorpoder]  NISNOOSIM TTIFIHOHOS SATYNOTOW HIWOLSND mmwm 2 m z
o - - 29 ABW SUEIUD ) cowm:tam;_ OLF X089 0'd = F |2 m e 2 S Ty
- — ] pownes 54 0151 pus 46 ooliiesss g0 INNOOOY WNOILYN YOTHNIZHO ANvaloodzdlE & Balz 1§ [z 15 |3 I
FAyodoid o1 SUBLURI PUBR UL 309LUSRID komtzmmmw WE B m@ = m w = w
- - - 1 1o vonewsoyu jeioes spes jeg 09119% 088 VM 'dNTIVAN NOILYOOTLoFrodd 8 xR LB o ke 2 ko |z
SUZIU00 PUR S] JUSWINSOP SIYL| %b EW w % w i W < M
- - . - “EOILON NOLLYIWHO AN AMY LS d0ud N SITT=L STTYNOGDW ~103rodd x wm W P\r m m % m m Q m
=
oy
£ 0~
£ ¥
.~ = &
@ T ©
0 o
v = 2
£ T © N
B 5 NS b
[isl
0 % ow y
x| 2 & © o
N R -
o @ 8 .
= ™~ 9]
8 % v
w8 & 03
o oy
<+ |
£ X o« 3
T e &
© R 0
TN o
o ¥ .
= I
e - T R —————
. 3 N
5 31,9
P S D R~ S Y I I N O RO O O O R N O O R R (T o o I . . R oy
Hoo”| b ° ) o | 8
oV s Y | | S
5 | E © " | %
TSR ]
O] Oy = MY o N | ]
Lo le wlwls Lod Lo
Lo N e . A
]
__ ] |
_ ] |
| b i
I |
] |
] |
] |
| ]
L ] |
o ] |
o ] |
- I |
o ] |
- ] |
- ] |
o ] |
i | |
M ') o ) o | |l w
u 1
L ] |
o ] |
- ] |
- ] |
- ] |
o I |
o ] |
o ] |
- I |
o ] |
- ] |
o ] |
- ] |
- ) |
/ L o |
] ] |
W P . |
o ] | —~
| ] v
L . | Z
> P! . i = <
i L . i o =
an ! ] I = 3
O ! I I | Ll L
t i | 14 [
O ) - e X o o | “ S @
N P! . _ Y =~
) | L _ ooy
<Z I ~ | | [
id | 3 ] | g o
C | w Lo w w | W
N ] | ®
£ L ] “
o ] |
- - I |
1 - ] |
O D B 1.
o " ] |
=z Bl .
4 ] 2 ] |
—_— - - ] |
) P 3 R |
o & R !
J L © RN |
> L > Y |
. o ~ ] |
2 . L] |
N - ] |
] L1 |
- . | o [3) e <) o 1] |
~ T nEy
s L D D
=+
~ L an . =
- b b il 5|
© L by <9 e & |
| B o o & |
| | ¥ &) | ! [rR
| o wr z | ]
| u = T m o | | o |
= I
] : o ] <!
o Do W) | | o™ |
- Fa ] |
5 1328 ] |
N vl o |
B ¥ bl |
L | | |
] |
] B
I
I
! 8
o ° o] x& 2
o
=g
()
w0
sl
B
P 3
¢ gl z
s
mmw a5 1= (SNOILYAZT3 33S) 3ZIS dIHS 000Y  fe=—
SE
&g
5.8 e
ERER -
H 0 H1d3a JHOOSHIANN

Wd B¥Z0T SZOZ/AE 1O LLOd


SKinnear
Building Text Box
PRCNC20241917


NOILYHOJYOD Nyd JOIHNIZYO ‘9007 LHONALOD

.

. “ON . . k3
NOILJIMDSHA NOISIATY AGNOISIAZY | 31v0 AZH | uoyssiuLIBd S N0 — LOALHONY U PR
Az o1f 40 UB0] o spocind o 0LY0-9L7¥S au s B2 /
— . — — LI JUSISISUOD AOUN-0FPaRU B Bulaey . B
1ou suosiad o) pasopsip o peorpoder]  NISNOOSIM TTIFIHOHOS SATYNOTOW HIWOLSND mmwm 2 m z
— o o s opeo 017 X080’ TR EzE B kol o
— .
- ,i - T powma et 01 51 pUB B HOBLUSRID JO ANNODOY TYNOLLYN MOIHNIZHO ANYANOD J34 o =) z & s _AW o D
FAyodoid o1 SUBLURI PUBR UBY 309LUSRUD) komtzmmmw WE B %.ﬁ = m w — w
- - - 1 1o uoneusioju jei00s spes fes 081197 D88 WM dNTIVANd NOWvooTLogroad (B a2 L1808 8 |z o |2
SUIBIUCO PUE S] JUSINSOP SIY | ab EW W% w oz < M
- - - — | OGO KVIS a0 SITI3YLSAWNOGON 10Zroud |3 Bhiz 12 118 | B Y |=
RPN
)
b3
M w
- =
g =
@ w
e Q
2 £ ©
n, . * N
fe ) -
= 7o)
= 38 <
I @ ! [+
= [ S pe
= o~ p—
” m oy X A
£l 8% =
x|
£ 845 0O
<3 g Ll —
w
w0 -
T5E X =2
™ o W
=y <
£2
28% (@) L <
HEEZ = v O
o1t -
L 08
o
: Rl 0001 be— B o O
[t EVI VI -4 (L
0oo's L T o >
el
w© L
%] _—
. %SU ) 0
000°L Ud T Z
258 =230
erR
SIMTEEL QINEHNAESEY BE
el =
3715 dIHS LS s
IIIIIIIIIIIIII m R R R D
Lo W 7
!!!!!!!!!!!!!! it e e . 0 0 2 7/
N Y s
A VA |
A / 4 |
| i | \\ \\\\ P i
Lo # ya s
“ | / 7 7
/ 7 o
/ z 4 i |
4 4 ]
/ 4 p I
/ # 7 | ]
/ # 7 |
/ H y | !
\\ \\\ \\ | w
/ 4 y |
4 4 V |
/ 7 Y | |
/ # V. I
2 7 Y |
/ 4 y | |
/ P4 . | ]
/ 4 y
[IEI 4 7 | |
ol T # p I
o Wm e r-4 Y
= o T \\\\ / w w
w0
" T 7 4 N
» i | I
Lad
| | oM™
2 W - So
0, | | <o
gy 1 o
= | <+ T
™~ o | | =
ToF N
Lo
~ x b | | W)
= ~NO | i =
L | i ]
5 | :
- ]
Lo | i 1 m
| i m e
= 0
w I = =
i — )
| Z %]
I w 2 <
o
| 1 Lo
N — —— w | o
! x
— | |
| i ™
| |
I
| i
| |
| J
| |
VAR I/ A B /N OSSS, < N N — . - W— /-l
L I I o o e
=
e
&)
m i 1l
m = N
o L »
= ~
et o
b m W
z S
o o
2 H
JZIS dIHS
000'9¢
ac|EllZ (5
ss2lal s (|15
TEUW a
285
o2 oo [IE
3585 |3le
ETIE | |[E
S |a||2
e b
a8

Wd B¥Z0T SZOZ/AE 1O LLOd


SKinnear
Building Text Box
PRCNC20241917




